MNEFRER S EL(SRELE)
Small Cylinder (Aluminium Tube)

TAM1, TADM1

(920~340) Series

Common Specification (3t [5] # #%)

Bore(#112)(mm) @20 | @25 | @32 | @40
Fluid (i7E4ds) CleanAir(E4 x5
Action(Z11ER ) Double/Single Acting(BU/# 5} )
Proof Press.(fRIEffE 77) 1.5MPa

Max. Press.(& & {#FE77) 0.99MPa

Min. Press.(&A{%{EAE ) 0.05MPa

Amb.Temp. (B RFKIRE) -5~+60°C

Piston Speed(i& ZE & &) 50~750mm/s
Cushion(£&4) Rubber(STD) fss#i i & #(#7:) Air(Option) S & ({E1%)
*Lubrication(iigi&) Not Necessary (A EE)

Margin of Stroke Error (mm) (T32i22) o

Pipe Size(#& O72)Rc(PT) g | s [ s [ 1

- Use Tubine Oil 1st-Grade ISOVG32,If Necessory(d1EZ i85 A iE F15iHISOVG32)

How To Order (B! &R~ 5%

20.25.32 40 25,50,75,100,125,150,200, Ni|(§)| None(t) | | | Type Knuckle Joint (I8! & ff 35 3K)
o 250,300 J [ e0°Cc Y | Y Type Knuckle Joint (YR Af#5%)
Bore Stroke Amb.Temp.for Gaiter Accessory
ke T2

ﬁhéﬁﬁﬁ‘“ﬁ?\]l}%] ELRAE B 4

(%]
=
=
<<
=
=)
L
=
a

TADMTL 25-100 A J Y - M9B S

Magnet Mounting Cushion *Auto Switch No.of Auto Switch
B IR Mt S Zoh HEMEFF % TR B E
Nil()| None(F#FF) B | Basic Type (& A &) Nil(%)[ Rubber (i 4 ) Nil(z%) | None (FEREMETF ) Nil(Z) [ 2(4Y)
D | Buitin Magnet(HEF) E | Integrated Clevis Type (§ % #U#4) A [Air Cushion(52%) A49 |Reed Switch( G SEIETF %) s |1
L | Foot Type (B &) M9B |Reed Switch(# &1 Skt I %) 3 3(1N)
F | FrontFlange(#F {lll 3% %) MONP | Contactless Switch(J s IF %)
R | Bracket(J& % B#UE! #35 FE) C72K |Reed Switch(7 % s FF %)
Z | Boss Cut(Z & #Y) *Auto Switch (B MEFF ) 51 & KERRIES:
Fid B-1m R
L-3m
Z-5m
Part No. of Mounting(Z& 2 K481 =)
Bore(fL1&) @20 | @25 @32 @40
E TAM1-E020 TAM1-E032 TAM1-E040
Accessory L TAM1-L020 TAM1-L032 TAM1-L040
(R %M 1F) F TAM1-F020 TAM1-F032 TAM1-F040
R TAM1-R020 TAM1-R032 TAM1-R040
Accessory | TAM1-020I TAM1-0251 TAM1-040I
(R FF) Y TAM1-020Y TAM1-025Y TAM1-040Y

Please contract us on any small problem and details.
FIFANEAREE, FEESEAARKE.

$TETE 109




INBUFRER S EL(SRE1E)
Small Cylinder (Aluminium Tube)

TAM1,TADM1(920~340) Series

PNEUMATICS

Dimensions(mm)(%h 2 R ~F E(Z X))

Basic Type(& A #!) TAM1B,TADM1B

.
ON
g\

EN

™~

+
[
e 1)
—
I
|
\
2D

[
=

K
\,_\
C

w

C L+Stroke
N+Stroke

e lalB|c|D|E|F|oG

@20 | 20 | 5 | 40 | 29 | 28 | 12 | 16
@25 | 22 | 55| 44 | 34 | 30 | 14 | 16
@32 | 22 | 55| 44 [39.5| 30 | 14 | 16
@40 | 24 | 7 | 46 |49.5| 32 | 14 | 22 | 11

K L MM N O P Q S T

M8x1.25 | 70 | M22x1.5 [122| 8 [1/8"| 256 | 12 | 29
M10x1.25| 70 | M22x1.5 [ 128 | 10 [1/8"| 30 | 17 | 29
M10x1.25| 70 | M24x2.0 [ 128 | 12 [1/8"| 35 | 17 | 32
M12x1.25| 92 | M30x2.0 [ 152 | 14 [1/4"| 45 | 17 | 41

|00 |Co| T

NoOo|o(o| —
© |00 |N|(N| «

Dimensions(mm)(%h 2 R ~t E(Z X))

Axial Foot Type (R &) TAM1L,TADM1L

PN zﬁ T T
A\ —\ Ll 'S 4
© B |
2 % ﬂj
/ T 4-9D -
T T "/ N ——
| A | YL x X _|Y
z S+Stroke

L+Stroke

Bore(fIfZ) A D H L S T X Y 4
20 40 | 6.5 | 25 | 133 [100| 3 15| 8 | 54
225 40 | 6.5 | 25 | 137 [100| 3 15| 8 | 54
@32 45 | 6.5 | 32 | 147|120 4 | 25 | 8 | 59
@40 50 | 65| 36 [171[142| 4 | 25 | 8 | 64

1.10 §pTECITE




Dimensions(mm) (%M 2 R ~f B(Z X))

INBUFRE RV S ET (SR L)
Small Cylinder (Aluminium Tube)

TAM1,TADM1(920~9340) Series

Front Flange Type(#Fim;%==%!) TAM1F,TADM1F

B G
B

Bore(fIf2) B | C | D | E | F | G

320 38 4 |6.5| 50| 64 -

225 38 4 |6.5| 50| 64 -

332 47 4 16.5|58 | 72|33

240 50 4 |6.5| 70| 84 | 36

Dimensions(mm) (4t 2 R < Bl(Z XK))

SEX H

1]

Integrated Double Clevis Type(J& 3 s2UB! ¢4 &) TAM1E,TADM1E

I

oP

L+Stroke

Bore(If2) ¢ | E | F | L P
720 16 | 21| 12 |122| 8
@25 16 | 21| 12 |126| 8
332 16 | 27 | 15 | 129| 10
240 20 | 27 | 15 | 153 | 12

BoreiIZ) A | B| Cc|[D|EJF[G|[H|L]K
@20 | 22|16 32485167 3 [32] 2165
@25 | 22|16 32485167 3 [32] 2165
@32 | 24|16 |36 |52|51 67| 4 [36] 2765
@40 | 28| 2040565571 4 [40] 2765

METTE 1.1

(%]
=
=
<<
=
=)
L
=
a




INBUFRER S EL(SRE1E)
Small Cylinder (Aluminium Tube)

TAM1,TADM1(920~340) Series

PNEUMATICS

Dimensions(mm)(%h 2 R ~F E(Z X))

Boss Cut Type(=E 3B 7] &Il &) TAM1Z, TADM1Z

vl 7 I[I} Bore(fL1F) L
— | B 220 110
— @25 14
@32 114
L+Stroke @40 138

#€Otherdimensions are the same as for standard type.

HERTSHERER

Dimensions(mm)(%h 2 R <t E(Z X))

Accessory(FMi )

M
L]
T

w T
o |
o

HH

Part No.

(e c D E F G H M
TAM1-020I 8 30 40 1 15 M8x1.25 8
TAM1-025I 10 40 50 15 20 M10x1.25 10
TAM1-040I 10 45 57 16 23 M10x1.25 14

OA
PA M
52
ol ||
(¢}
a
Il ‘ I

Part No.

@e) A © D P Q M H PA PB
TAM1-020Y 16 8 30 15 40 8 M8x1.25 21.6 16.8
TAM1-025Y 19 10 40 20 52 10 M10x1.25 25.6 19.8
TAM1-040Y 25.4 10 45 20 57 14 M12x1.25 32 26.2

1.12 pTECTE




MNEUFRER S EL (SR L)
Small Cylinder (Aluminium Tube)

TAMT1W, TADM1W(920~340) Series

(%]
=
=
<<
=
=)
L
=
a

Order Example (3T 2 {51) Double Rod Type (W& Z 4T &)

() Magnet %5 % #; 5 (© Gaiterff4afRIFE
- - @Mounting i 242 55, @ Accessory Bt
TADM1WL20-50AJY-M9BS
@ stroke 1712 @ No.of Auto Switch fii M FF X 8 &
(B Cushion £

Double Rod Type (X ;& £+ &) TAM1W,TADM1W

C

2-p

L=

B E F F E B+Stroke
T L+Stroke T+Stroke
S+2Stroke

Bore(fIfE) A B C @D E F K L MM P(PT)| S T
@20 20 28 8 29 12 16 M8x1.25 70 M22x1.5 1/8" | 150 40
8
8

@25 22 30 34 14 16 M10x1.25 70 M22x1.5 1/8" | 158 44
@32 22 30 39.5 | 14 16 M10x1.25 70 M24x2.0 1/8" | 158 44
@40 24 32 " 49.5 | 14 22 M12x1.25 92 M30x2.0 1/4" | 184 46

Order Example (iTJt % ) Adjustable Stroke Cylinder (AJ{F517525ED)

Extension Adjustable Type {#1 iz &I

(@ Magnet & T ##; ¥ ®) Cushion &
- - - @ Mounting i 2% 75X © Accessory ffi 4
TA% M 1 3460 '%JQ% %B XCB ® Bore i1 @ Auto Switch B FF X<
@ Stroke 1772 No.of Auto Switch B £ FF < &

MM

L=

F F E Stroke G+ {712
L+Stroke
S+2Stroke+ B 11712

Bore(£I11&) A B
320 20 28

@D E F G H K L MM P(PT)| S T
29 12 16 19 15 M8x1.25 70 M22x1.5 1/8" | 147 | 40
@25 22 30 34 14 16 21 20 M10x1.25 70 M22x1.5 1/8" | 165 | 44
@32 22 30 39.5 | 14 16 21 20 M10x1.25 70 M24x2.0 1/8" | 165 | 44
@40 24 32 1" 49.5 | 14 22 21 25 M12x1.25 92 M30x2.0 1/4" | 180 | 46

@ (0| |0

$rETTE 113




INEAR B S EL/ER R 58 &5 &[]
Small Cylinder / Single Acting Spring Return

TAM1,TADM1(920~9340) Series

v
=
'_
<
=
>
wl
=
o

Order Example (1T ItJ 2 451) Single Acting Spring Return(S) (2 zfj3 & % [5])

(@) Magnet 5 & # 3 (® Cushiongh

TAQM1 B3_2'5_0$'A!'M9B§ (@ Mounting pf 4 22 2 75 3% (& Accessory it
@ @@ ® ®® @ @ Bore f1 7 @ Auto Switch B4 FF 3%
@ stroke T2 No.of Auto Switch 14 FF < 8 &

TAM1B,TADM1B--S

5
j’)x
1
= [ )
1)
7%k

S E F G G F
T C L+Stroke
N+Stroke
TAM1E, TADM1E--S
H MM
P 20

@D

C L+Stroke R
N:+Stroke

TAM1Z,TADM1Z--S

MM
K j‘g:'ﬁv ”,”
D) 1 VX | _ _ g
Eeal A
A
S E F G G
T C L+Stroke
N2+Stroke
Bore L N
p A|lB|C|@D|E|F|G|H]| I |J K
(L) 0~50 [51~100| =101 [0~50[51~100]=101
@20 | 20| 5 4029 281216 ] 8 | 6 | 16 [M8x1.25] 95 | 120 | 145 |[147 | 172 | 197
@25 | 2255443430 14]16] 8 | 6 | 16 [M10x1.25] 95 | 120 | 145 |153 | 178 | 203
@32 | 225544 (395301416 ] 8 | 6 | 16 [M10x1.25] 95 | 120 | 145 |153 | 178 | 203
@40 | 24 | 7 | 46 [495] 32 [ 14| 22| 11| 7 | 20 [M12x1.25] 117 | 142 | 167 | 177 | 202 | 227
N2
Bore i go|P |l |R |s |T | mm

(EI1Z) |0~50[51~100/=101/0~50 |51~100| =101
@20 156 | 181 | 206 | 135 | 160 | 185| 8 ([1/8"| 12 | 21 |12 |29 M22x1.5
@25 160 | 185 | 210|139 | 164 | 189 | 8 |1/8"| 12 | 21 |17 |29 M22x1.5
@32 166 | 191 | 216 | 139 | 164 | 189 | 10 |1/8" | 15 | 27 | 17 | 32 |M24x2.0
@40 190 | 215 | 240|163 | 188 | 213 | 12 [1/4"| 15 | 27 |17 | 41 M30x2.0

1.14 ~TETE




INEFRER ST/ R REE EH
Small Cylinder / Single Acting Spring Extended

TAM1,TADM1(920~340) Series

(%]
=
=
<<
=
=)
L
=
a

Order Example (3T It 2 451)

Single Acting Spring Extended(T) (338 E E H)

(1) Magnet & T & EFF (® Cushiong 4
@Mounting i 2% 75X (© Accessory Hiff
TA% M 1 33@2 %)T %% Mg B @ Bore il {2 @ Auto Switch 14T
@ stroke T2 No.of Auto Switch & IF 55 2 &

TAM1B, TADM1B--T

MM k,ﬂp T MM
K ’HT g | -5
@) ! - . - - @ 8
A
S E+Stroke F G G F
T C+Stroke L+Stroke
N+2Stroke
TAM1E, TADM1E--T fe M’\éo
MM ﬁ
Kl ) T‘[, ) ‘ i z i @
S I P
l_te é — ]
A

E+Stroke F G G Q Jos
C+Stroke L+Stroke R
N1+2Stroke
TAM1Z,TADM1Z--T
H
MM P ﬁ
K SN u?j ‘
A TN — — 5 7) - - | o
Q
A
S E+Stroke F G G
T C+Stroke L+Stroke
N2+2Stroke
Bore | Al B | clop|E|F|a|H| 1] K L MM N
(Gaked) 0~25 | 26~50|51~75 [76~100 0~25 | 26~50
@20 | 20 5 40 | 29 | 28 | 12 | 16 8 6 16 | M8x1.25| 85 95 110 | 120 |[M22x1.5| 137 | 147
@25 | 22 | 55| 44 | 34 | 30 | 14 | 16 8 6 16 |[M10x1.25| 85 95 110 | 120 [M22x1.5| 143 | 153
@32 | 22 | 55| 44 |39.5| 30 | 14 | 16 8 6 16 [M10x1.25| 85 95 115 | 125 |[M24x2.0| 143 | 153
J40 | 24 7 46 |49.5| 32 | 14 | 22 | 1 7 20 |M12x1.25| 107 | 117 | 137 | 147 |M30x2.0| 167 | 177
Bore N N N2
4 go | P Q R S T
(E118) |51~75[76~100| 0~25 | 26~50|51~75(76~100| 0~25 | 26~50 |51~75[76~100
@20 | 162 | 172 | 146 | 156 | 171 | 181 125 | 135 | 150 | 160 8 |1/8"| 12 | 21 | 12 | 29
@25 | 168 | 178 | 150 | 160 | 175 | 185 | 129 | 139 | 154 | 164 8 |1/8"| 12 | 21 | 17 | 29
@32 173 | 183 156 | 166 | 186 | 196 129 | 139 159 | 169 | 10 [1/8"| 15 | 27 | 17 | 32
40 197 | 207 180 | 190 | 210 | 220 153 | 163 183 | 193 | 12 |1/4"| 15 | 27 | 17 | 41

$TETTE 115




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7

